

Title	A counterexample to two conjectures about high order derivations and regularity
Author(s)	Ludington, Anne L.
Citation	Osaka Journal of Mathematics. 14(1) p.159-p.163
Issue Date	1977
oaire:version	VoR
URL	https://doi.org/10.18910/6435
rights	
Note	

Osaka University Knowledge Archive : OUKA

<https://ir.library.osaka-u.ac.jp/>

Osaka University

A COUNTEREXAMPLE TO TWO CONJECTURES ABOUT HIGH ORDER DERIVATIONS AND REGULARITY

ANNE L. LUDINGTON*

(Received December 15, 1975)

Let R be the local ring of a point on a plane irreducible algebraic curve defined over a field of characteristic $p \neq 0$. We give an example in which all the R -modules of high order derivations are free and the R -algebra of derivations is generated by p^i -th order derivations even though R is not regular.

Let P be a point on a plane irreducible algebraic curve defined over an algebraically closed field k . Let R be the local ring at P .

For each $n=1, 2, \dots$, we let $\text{Der}_k^n(R, M)$ denote the R -module of all n -th order derivations of R to an R -module M which vanish on k . Thus, $\phi \in \text{Der}_k^n(R, M)$ if and only if $\phi \in \text{Hom}_k(R, M)$ and for all $r_0, \dots, r_n \in R$ we have

$$(1) \quad \phi(r_0 \cdots r_n) = \sum_{s=1}^n (-1)^s \sum_{i_1 < \cdots < i_s} r_{i_1} \cdots r_{i_s} \phi(r_0 \cdots \overset{\vee}{r_{i_1}} \cdots \overset{\vee}{r_{i_s}} \cdots r_n).$$

When $M=R$, we write $\text{Der}_k^n(R)$ instead of $\text{Der}_k^n(R, R)$. Let $\text{Der}(R) = \bigcup_n \text{Der}_k^n(R)$.

When k has characteristic zero, the following two results are known to hold for plane curves:

- (I) Lipman's conjecture: R is a regular local ring if and only if $\text{Der}_k^1(R)$ is a free R -module [Theorem 1; 3].
- (II) Nakai's conjecture: R is a regular local ring if and only if $\text{Der}(R)$ is generated as an R -algebra by first order derivations [4].

When k has characteristic $p \neq 0$, both of these results are false since a p -th order derivation cannot be represented by first order derivations. Hence we have the following conjectures which are generalizations of (I) and (II):

- (I') R is a regular local ring if and only if $\text{Der}_k^n(R)$ is a free R -module for all n .
 - (II') R is a regular local ring if and only if $\text{Der}(R)$ is generated as an R -algebra by p^i -th order derivations, $i=0, 1, \dots$.
- (II') appears as a conjecture in [2]. It is known that if R is regular, then $\text{Der}_k^n(R)$

* This work forms part of the author's Ph.D. dissertation at Michigan State University. The dissertation was written under the direction of William C. Brown whom the author wishes to thank for his help and guidance.

is a free R -module for all n and $\text{Der}(R)$ is generated by p^i -th order derivations [Theorem 16.11.2; 1 and Theorem 4.3.; 5]

We shall give an example which shows that the converses of both these conjectures are false. The following lemma will be used repeatedly in the example.

Lemma. *If $\lambda \in \text{Der}_k^{p^n}(R)$ and $r, s \in R$, then*

- (a) $\lambda(r^{p^n}s) = r^{p^n}\lambda(s) + s\lambda(r^{p^n})$
- (b) $\lambda(r^{p^{n+i}}s) = r^{p^{n+i}}\lambda(s)$ for $i \geq 1$.

Proof. The proof of (a) follows immediately from the definition of a p^n -th order derivation; this is equation (1).

For (b), the previous part gives

$$\lambda(r^{p^{n+i}}s) = \lambda((r^{p^i})^{p^n}s) = r^{p^{n+i}}\lambda(s) + s\lambda(r^{p^{n+i}}).$$

Since $\lambda(r^{p^{n+i}}) = 0$ [I, Prop. 10; 6], $\lambda(r^{p^{n+i}}s) = r^{p^{n+i}}\lambda(s)$. *q.e.d.*

Theorem. *Let R be the local ring at $(0, 0)$ of $\Gamma: f(X, Y) = X^2 - Y^3$ over an algebraically closed field k of characteristic 2. Then $\text{Der}_k^n(R)$ is a free R -module for all n and $\text{Der}(R)$ as an R -algebra is generated by 2^i -th order derivations.*

Proof. Let $A = k[x, y] = k[X, Y]/(X^2 - Y^3)$. Then $R = (A)_{(x, y)}$. For $m = 0, 1, \dots$, we define $\gamma_{2^m} \in \text{Der}_k^{2^m}(k[y])$ as follows:

$$(2) \quad \gamma_{2^m}(y^i) = \begin{cases} 0 & i < 2^m \\ 1 & i = 2^m \end{cases}.$$

Thus, γ_{2^m} is a 2^m -th order derivation of $k[y]$ to $k[y]$. For any i , we define $\gamma_i = \gamma_{2^i}^{\alpha_i} \dots \gamma_1^{\alpha_0}$ where the α_j 's are the coefficients in the 2-adic expansion of i ; that is, $i = \sum_{j=0}^i \alpha_j 2^j$. It is easily shown that $\gamma_i(y^j) = \begin{cases} 0 & j < i \\ 1 & j = i \end{cases}$. Also, $\gamma_i \in \text{Der}_k^i(k[y])$ [I, Theorem 6.1; 6].

We now define a 2^n -th order derivation on $k[x]$ to $k[x, y]$, $n = 0, 1, \dots$. For $n = 0$, we define $\lambda_1 \in \text{Der}_k^1(k[x], k[x, y])$ by $\lambda_1(x) = 1$. For $n > 0$, we define $\lambda_{2^n} \in \text{Der}_k^{2^n}(k[x], k[x, y])$ as follows:

- (3) $\lambda_{2^n}(x^{2^j}) = \gamma_{2^{n-1}}(y^{3^j}) \quad j = 0, \dots, 2^{n-1}$
- (4) $\lambda_{2^n}(x^{2^{j+1}}) = x\lambda_{2^n}(x^{2^j}) \quad j = 1, \dots, 2^{n-1} - 1.$

For each n , λ_{2^n} extends uniquely to a 2^n -th order derivation of $k(x)$ to $k(x, y)$ [I, Theorem 15; 6]. We call this extension λ_{2^n} . Since $k(x, y)$ is separably algebraic over $k(x)$, λ_{2^n} extends in a unique way to a 2^n -th order derivation of $k(x, y)$ to $k(x, y)$ [Theorem 17; 7]. This extension is also called λ_{2^n} .

From the definition of λ_{2^n} , we have

$$(5) \quad \lambda_{2^n}(x^{2^n}) = y^{2^n}.$$

For by the lemma

$$\begin{aligned} \lambda_{2^n}(x^{2^n}) &= \lambda_{2^n}((x^2)^{2^{n-1}}) = \gamma_{2^{n-1}}((y^3)^{2^{n-1}}) = \gamma_{2^{n-1}}(y^{2^n+2^{n-1}}) \\ &= y^{2^n} \gamma_{2^{n-1}}(y^{2^{n-1}}) = y^{2^n} \end{aligned}$$

Using (5) and the lemma, it is easily shown that (3) holds for all values of j . This is done by writing $2j=2^{n+k}+2i$ with $i=1, \dots, 2^{n+k-1}$ and using induction on k . Likewise, it can be shown that (4) holds for all values of j . Here, we write $2j+1=2^{n+k}+2i-1$ where $i=1, \dots, 2^{n+k-1}-1$ and induct on $k=0, 1, \dots$.

Using (3) and (4), we now show that $\lambda_{2^n} \in \text{Der}_k^{2^n}(A)$. In order to show this, we compute $\lambda_{2^n}(y^i)$ and $\lambda_{2^n}(xy^i)$ and show that

$$(6) \quad \lambda_{2^n}(y^i) = \gamma_{2^{n-1}}(y^i)$$

$$(7) \quad \lambda_{2^n}(xy^i) = x \gamma_{2^{n-1}}(y^i)$$

where $i=1, 2, \dots$ and $n=1, 2, \dots$.

To show (6), there are several cases depending on whether $i \equiv 0, 1, 2 \pmod{3}$.

Case 1: $i \equiv 0 \pmod{3}$.

Let $i=3l$. Then (3) implies that

$$\lambda_{2^n}(y^i) = \lambda_{2^n}(y^{3l}) = \lambda_{2^n}(x^{2l}) = \gamma_{2^{n-1}}(y^{3l}) = \gamma_{2^{n-1}}(y^i)$$

Case 2: $i \equiv 1 \pmod{3}$ and $2^n \equiv 1 \pmod{3}$.

Case 3: $i \equiv 2 \pmod{3}$ and $2^n \equiv 2 \pmod{3}$.

These cases are considered together for in both $i+2^{n+1} \equiv 0 \pmod{3}$. Let $i+2^{n+1}=3l$. Then $\lambda_{2^n}(y^i y^{2^{n+1}}) = y^{2^{n+1}} \lambda_{2^n}(y^i)$ by the lemma. On the other hand,

$$\lambda_{2^n}(y^{3l}) = \lambda_{2^n}(x^{2l}) = \gamma_{2^{n-1}}(y^{3l}) = \gamma_{2^{n-1}}(y^i y^{2^{n+1}}) = y^{2^{n+1}} \gamma_{2^{n-1}}(y^i).$$

So, $y^{2^{n+1}} \lambda_{2^n}(y^i) = y^{2^{n+1}} \gamma_{2^{n-1}}(y^i)$ or $\lambda_{2^n}(y^i) = \gamma_{2^{n-1}}(y^i)$.

Case 4: $i \equiv 2 \pmod{3}$ and $2^n \equiv 1 \pmod{3}$.

Case 5: $i \equiv 1 \pmod{3}$ and $2^n \equiv 2 \pmod{3}$.

In both of these cases $i+2^{n+2} \equiv 0 \pmod{3}$. Let $i+2^{n+2}=3l$. The computations are similar to those made in cases 2 and 3 and hence are omitted.

Equation (7) is proved using (5). The cases are the same as above. Since the calculations necessary to prove (7) are routine and similar to those given above, they are omitted.

Since every monomial in A can be written as $x^j y^i$ with j being 0 or 1 and $0 \leq i$, (6) and (7) imply that $\lambda_{2^n}(A) \subseteq A$ for $n=1, 2, \dots$. To show $\lambda_1(A) \subseteq A$, we compute $\lambda_1(y)$. Since

$$0 = \lambda_1(x^2) = \lambda_1(y^3) = 3y^2\lambda_1(y),$$

$\lambda_1(y)=0$. Thus, $\lambda_1 \in \text{Der}_k^1(A)$. Hence, $\lambda_{2^n}(A) \subseteq A$ for $n=0, 1, \dots$.

By taking composites, we define an m -th order derivation for $m=1, 2, \dots$. We write m in its 2-adic expansion as $m = \sum_{i=0}^l \alpha_i 2^i$ where α_i equals 0 or 1. We define $\lambda_m = \lambda_{2^l}^{\alpha_l} \cdot \dots \cdot \lambda_1^{\alpha_0}$. Then $\lambda_m \in \text{Der}_k^m(A)$. Hence $\lambda_m \in \text{Der}_k^m(R)$ [I, Theorem 15; 6].

We now make some observations about λ_m . We first consider $\lambda_{2l} = \lambda_{2^l}^{\alpha_l} \cdot \dots \cdot \lambda_1^{\alpha_1}$ where $2l = \sum_{i=1}^l \alpha_i 2^i$. Equation (6) shows that λ_{2^n} when restricted to $k[y]$ equals $\gamma_{2^{n-1}}$. Thus when λ_{2l} is restricted to $k[y]$, we have

$$\lambda_{2l}|_{k[y]} = \gamma_{2^{l-1}}^{\alpha_l} \cdot \dots \cdot \gamma_1^{\alpha_1} = \gamma_l.$$

Using the fact that $\lambda_{2^n}(x)=0$ for $n \geq 1$, equation (2), and equation (7), we see that the following hold:

$$\begin{aligned} (8a) \quad & \lambda_{2l}(x) = 0 \\ (8b) \quad & \lambda_{2l}(y^i) = \begin{cases} 0 & i < l \\ 1 & i = l \end{cases} \\ (8c) \quad & \lambda_{2l}(xy^i) = x\lambda_{2l}(y^i). \end{aligned}$$

We now consider $\lambda_{2l+1} = \lambda_{2l} \circ \lambda_1$. Since $\lambda_1(x)=1$, $\lambda_1(y^i)=0$, and $\lambda_1(xy^i)=y^i$, we have the following:

$$\begin{aligned} (9a) \quad & \lambda_{2l+1}(x) = 0 \\ (9b) \quad & \lambda_{2l+1}(y^i) = 0 \\ (9c) \quad & \lambda_{2l+1}(xy^i) = \lambda_{2l}(y^i) = \begin{cases} 0 & i < l \\ 1 & i = l. \end{cases} \end{aligned}$$

Using (8) and (9), we shall show that $\lambda_1, \dots, \lambda_n$ are free over K , the quotient field of R . Suppose there exist elements $a_1, \dots, a_n \in K$ such that

$$(10) \quad a_1\lambda_1 + \dots + a_n\lambda_n = 0.$$

Evaluating (10) at x gives $a_1=0$. Suppose $a_1 = \dots = a_{2k-1} = 0$ for $2k-1 < n$. If we evaluate (10) at y^k , we get $a_{2k}=0$ since $\lambda_i(y^k)=0$ for $i > 2k$. Now, evaluating (10) at xy^k gives $a_{2k+1}=0$. Hence, by induction, $a_i=0$ for $i=1, \dots, n$. Therefore $\lambda_1, \dots, \lambda_n$ are free over K . Since $\text{Der}_k^n(K)$ has rank n over K , $\lambda_1, \dots, \lambda_n$ constitute a free basis of $\text{Der}_k^n(K)$.

We now wish to show that $\lambda_1, \dots, \lambda_n$ are free generators of $\text{Der}_k^n(R)$ over R . Since $\text{Der}_k^n(R) \otimes_R K \simeq \text{Der}_k^n(K)$, we know that if $\text{Der}_k^n(R)$ is a free R -module, then it will have rank n . Thus we need only show that $\lambda_1, \dots, \lambda_n$ generate

$\text{Der}_k^n(R)$. Let $\lambda \in \text{Der}_k^n(R)$. Passing to $\text{Der}_k^n(K)$, we have that there exist elements $a_1, \dots, a_n \in K$ such that

$$(11) \quad \lambda = \sum_{i=1}^n a_i \lambda_i.$$

We must show that $a_i \in R$. Evaluating λ at x gives $\lambda(x) = a_1 \in R$ since $\lambda(x) \in R$ and $\lambda_i(x) = 0$ for $i \geq 2$. Suppose $a_1, \dots, a_{2k-1} \in R$ for $2k-1 < n$. We consider $\lambda(y^k)$.

Now $\lambda(y^k) = \sum_{i=1}^n a_i \lambda_i(y^k) = \sum_{i=1}^{2k-1} a_i \lambda_i(y^k) + a_{2k}$. Thus $a_{2k} = \lambda(y^k) - \sum_{i=1}^{2k-1} a_i \lambda_i(y^k) \in R$.

Likewise, evaluating λ at xy^k gives $a_{2k+1} \in R$. Hence by induction $a_i \in R$ for $i=1, \dots, n$. Thus $\text{Der}_k^n(R)$ is a free R -module for all n .

By construction, each generator λ_n is a composite of 2^i -th order derivations. Hence $\text{Der}(R)$ is generated as an R -algebra by 2^i -th order derivations. *q.e.d.*

Since Γ has a singular point at the origin, R is not regular. Thus this is a counterexample to the generalization of Lipman's conjecture, (I'), and to the conjecture by Nakai, (II').

HAMILTON COLLEGE

References

- [1] A. Grothendick: *Eléments de géométrie algébrique*, Inst. Hautes Etudes Sci. Publ. Math. **32** (1960)
- [2] Y. Ishibashi: *A characterization of one dimensional regular local rings in terms of high order derivations*, Bull. Fukuoka Univ. Ed. **24** (1975), 11-18.
- [3] J. Lipman: *Free derivation modules on algebraic varieties*, Amer. J. Math. **87** (1965), 874-898.
- [4] K.R. Mount and O.E. Villamayor: *On a conjecture of Y. Nakai*, Osaka J. Math. **10** (1973), 325-327.
- [5] ———: *Taylor series and higher derivations*, Universidad de Buenos Aires, No. 18.
- [6] Y. Nakai: *High order derivations I*, Osaka J. Math. **7** (1970), 1-27.
- [7] Y. Nakai et. al.: *High order derivations II*, J. Sci. Hiroshima Univ. Sci. A-I, **34** (1970), 17-27.

